T E R R R R XRS5 SRR E A Sk =TT BORRE Bk

= =N
ARE TR Wishs PRETRIBEN, o R e 5 52 IXR T A 5 R A B s 5
= (LA fai AR Fli- s 38 %) T SO S A i -SSR B8 = 5 o6 S BT B
e 2t Fili- e 96 S BT A A5 5 TS 2 1 AR BF IR AR T o Bili- s B S T TSRt
W FE i S0 = R A 1 3 A B 0

Z JPICRAE BB AR R A A

1. JFBCRM FR 8 NN Rli- S LM RMIT N B3, FIE A 205 -
IR A4 e R AR

2. JPICURABN 3 B SR - sk e = ) = A EER AL (), 5
i S 5 ] 2 e 57 T ELAMYE 5 VR I -

(1) FEXRX M

(2) AR5 T IR R TR

(3) mRS TR % R

3. BN S = [ E K 3 B PR — A AR B TR IR

4. HIE NI REERF 1 BUTBORE; ARt CEERD AR,
T J5 AN BE H B T IR

=, FEBORRER BRI AL

5. JFBERE 3 N — BT IR A T O . A% H B AHE RN, A
EVEB) 5-8 T — AR, 1 T R W S RS = A A B
A ELEE GV RS U RORE R Y, tH ) SR - S 00 B AR S T
2, 58 BHEEREIL RS 5P . [F R8BI R A e S = B AT 0
213 M54

6. Bfi- <S50 B4 10 HVITE W U E sk IR RO s r i@ s, g A
JiF 11 A 15 HAi HiE R F B LI s . 6 bl S0 = 20 10 5 4 A4 ]
AR WL 1-2 TR AR



7+ SEr = WL R SO I BOR AT IS, IF - Tseie = TR TS
W MRS HAER B W, TR ST R A - g0 = AR 2 A
L. B 1 I CREURE B I 38 RN A N IR - g = B A

M. FRREREHE

8. —BUTHOERE A IB BhA Y 3 J370, PATHFIAIN 2 45 298 73 R
£, SR 1550, BERA 2 . AT GRS A TE B 10 JI T,
PATIS TR 2-3 48, 2 3R 3R A U5 sCASRAT I 8] 171 52

9. B PR () RO N EESRON IE R ZIRAR, S5 AUE R Nature 20 11 &
R LR, BPNAS 40 1A 2 XELE SCHITIE S 1/, 22 XPLE
SCI I 4 5

10 JFBCPRARES R, I ANUE BRI A AR, JFH B 5 &1 N A
WIRLL Ty T A EAME S AF, JFEASH AR HE AR = ST A
ZRORIES N -5 56 % € JIAL A TF P IR AT TR S 2 MR EE 2

11, 52 3 -5 50 =T TROR T I 18 SC AT - S e = A N B — Bl s —
TARSLIARTE, B WASBEFIATT TR IR s T G R R B SCR E A Tt
NN AR, AL S W2 N Ve 22—, B BEAE 9 TH O 4 45 AR 4 »
SETT TR SO I R A B A R B P R TRk L A ORI o S8 20 [R] 5 it i
— R M-SR E . friFEE R 9832 Key Laboratory of Land Surface
Process and Climate Change in Cold and Arid Regions, Chinese Academy of
Sciences; H3C: HERFA R FE S X Bl AR 5 AR AL B RS

12, RAESFAT A N TCHOR % 2 28 3 50 BERIT I AR BIR K R AR AR 25 44 Bl -
RS ARSI ORI G4, =5 A AN - R S = T R
RS, [ -G SRR RO E R AN

13, JFICURE A HH 2 BT AE S AL M- SR 56 = 3L T TSR A R BT RSCR



